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RRB MOCK TEST-7 (Solution)
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(D) North

2 km

West East

B 3 km

C South
2 km
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Hence, Now he is walking towards North.
B) 39x23+21x%x5
After changing the sign
= 39+23-21+5=67 - 21 =46
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B) 20=6+4+8+2
26=7+9+8+2
25=6+5+12 +2
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(D) A,B,C,D,E, F, G and H will be following
position.

Situation of A will surely right on F.
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I. False
II. True
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I. False

II. True
(A) (27+2)-13 =16 ( 1st Row)

(837 +2)-23 =16 ( 2nd Row)

(91 + 2) - 45 = 48 (3rd Row)
(D) Clue is related to Mystery. Similarly,
Warning is related to Danger.
(B) Correct order of words

Advertisement —» Application - Exam
— Interview — Selection — Appointment

B) 72 x 54
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65 x 28 =M
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(A) S5Sth letter from left end of Alphabate = E
and 12th letter from right of E = 5+12
= 17th letter = Q
§% mopn,mopn,mopnmopn
(©)
(D) ATQ,
C>A>B=D>E
Hence, D is shorter than A.
(C) On 31st December, 2005 it was
Saturday.
Number of odd days from the year 2006 to
the year 2009 = (1 + 1 + 2 + 1) = 5 days.
On 31st December 2009, it was Thursday.
Thus, on 1st Jan, 2010 it is Friday.
(D) Fruit is grow on tree but in question
tree is called sky.
Hence, Fruit is grow in sky
(A) Unit place of 81 x 82 x 83 x ........ x 89
= Unit placeof 1 x 2 x 3 x ....... x 9
= Unit place of 362880 =0

B) If 2 = 1.4142
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1{@-1}_1[04142j 4

= = 34. (A) Original volume = - ;7°
then, 5| J2+1) 2(2.4142 (A) Orig e
When radius is double, then
~0.2071 _ 2071 4 4
T 24142 24142 volume = Z78r° = (gﬂrsj x 8
=0.08578 ~ 0.086 .
28. (B) Let A, B and C are 1st, 2nd and 3rd Therefore, volume becomes 8 times
numbers respectively. 35. (C) Digonal of rectangle = 10 cm
ATQ, One side of rectangle = 5 cm
A:B:C=120:90: 100 Now, D% = B2 + P2
Now, (120 -90) —» 180 102 = B2 + 52
180 2 = 100 - 25
120 — 3o><120=720 B= /75 cm

Area of rectangle = [ x b

=5x J75 =5x 53 = 253 cm?
. a+b 36. (D) Let work is completed in x day.
. Side of square = 2

29. (B) Diagonal of square = /2 x side

Ao, X X X4
a+b a+b Q, 24 30 40
. Area of square = —\/5 X_\/E Sx+4x+3x-12
1 = 120 B
=5 la+ by = 12x=120+ 12 = x=11days.
30. (C) -- All numbers between 200 and 400 | 37- (D) Let the rate of interest per annum = R%
which is divisible by 7 is 203, 204, ...... ,392, PxRx 30 20 o 2 o
399. w 2P= —— 5 = 5 %=65%
. 29 38. (C) Let the numbers x and y.
-, required sum = 5 X (203 + 399) L X+y=36 ... (1)
and xy=3x 105=315  ...... 2)
=?><602=8729 l+l 36 4
31. (D) LetCP=% x. " x y 315 35
x  B5x 39. (D) Let the total number of studens in a
SP=x+ 2°- 2 class are x, then
ATQ,
poxt X 20X 2 3
CP=x 5 5 '-'x=EX+EX+15+5
sp=%,10
4
57x+10_67x :x—gx=20
-, Profit % = 46—5X 100 1
ox = $X= 20
> . x=5x%x20=100
Sx 6x
15, 407§ 40. (D) Spped of first bus = 2 km/h
N ?%=Tx100 . (D) Spped of first bus = 15 m/hr
5 450
- x=%250 . . Speed of second bus = To km/hr
32. (C) Let81isdivided by in the ratioof A:B: C - Required ratio of average spped
1 11
N I 300x2 10 8
SAeTRe T =15 ‘a0 -9 "8:9
Henc; 1'St e 1 giian |41 @) 222- [éof{42+(56+—8+9)}+108}
» ASLP (14 +7+6)
2 3 4 LCMof2,3&4 =222_[lx{42+(56—17)}+108}
33. (A) LCMof =, =& 7= 3

5’1015 HCFof5,10,15

.2 =229 — [lx{42+39}+108}
_25 3
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42.

43.

44.
45,

46.

47.

=020 — [%x81+108}

=222 - (27 + 108)
=222-135=87
(C) Today totalage of Pand Q=15x2+(5+95)
=30 + 10 = 40 years
Today total age of P, Q and R
=3 x 20 = 60 years
. Today age of R = (60 — 40) = 20 years
. After 10 years age of R =20 + 10
= 30 years
(D) Let the average weight of another class
= xkg
Then, ATQ
15x32+20xx
28=""(15+20)
~980-480
= X= "5y

0-15

=25 kg

2
(D) Loss % = x100 = 25%

(B) Suppose the total number of books = x

E"‘ 272 + 150 = x

X, 3x N 150
- =
2 8 1
4x+3x+1200
= =x
8
= 8x—7x= 1200

= x=1200

1
(D) Y m/second

)
=137 5 kmph = 12 kmph

(A) Relative speed of train

= (25 + 2) kmph = 27 kmph

Distance covered by train in crossing the
man = 270 m

Now, 27 kmph

48.

49.

50.

Ph: 09555108888,

o7 ) 15
= X — = —
18 m/sec 5 m/sec
R ired ti _ 270 270x%2
-.Required time = E = —1 5
2

= 36 seconds

(D) Number of teachers in University C
_ 19x6400
100

Number of female teachers in University

=1216

S 1
C=1216 x =1216><Z=304

100
Number of male teachers in University C
=1216-304 =912
(C) Number of teacher in University B
17 x 6400
~ 100
Number of teachers in University D

_ 6x6400

100
Number of teachers in University E

_ 29x6400 1856
100 B

=1088

=384

1088

——— %100
1856 + 384

~. Required percentage =

_ 108800 = 48.57 ~ 49%
2240 @ OO0 F 0

704 +1216+ 384 +1152
4

(D) Average =

_ 3456 _
4
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RRB MOCK TEST - 7 (ANSWER KEY)

N h W

(B) 26. (A) 51. (A) 76. (B)
(D) 27. (B) 52. (B) 77. (A)
B) 28. (B) 53. (B) 78. (A)
(A) 29. (B) 54. (C) 79. (D)
(©) 30. (C) 55.  (A) 80. (B)
(D) 31. (D) 56. (B) 81. (D)
(€) 32. (C) 57. (A) 82. (B)
(A) 33. (A) 58. (D) 83. (C)
(B) 34. (A) 59. (C) 84. (D)
B) 35. (C) 60. (C) 85. (C)
(D) 36. (D) 61. (C) 86. (D)
B) 37. (D) 62. (D) 87. (B)
(€) 38. (C) 63. (D) 88. (A)
B) 39. (D) 64. (A) 89. (A)
(A) 40. (D) 65. (A) 90. (Q)
(D) 41. (A) 66. (B) 91. (A)
(B) 42. (C) 67. (C) 92. (B)
B) 43. (D) 68. (B) 93. (C)
(A) 44. (D) 69. (A) 94. (C)
(€) 45. (B) 70. (C) 95. (D)
(B) 46. (D) 71. (D) 2. (A)
(€) 47. (A) 72. (A) 97. (B)
D) 48. (D) 73. (B) 98. (A)
(€) 49. (C) 74. (D) 99. (B)
(D) 50. (D) 75.  (C) 100. (B)
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